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Instructions to Pupils:

1. Do not open the booklets until you are told to do so.

2. Follow all instructions carefully.

3. This paper consists of 2 booklets, Booklet A and Booklet B.

4. For questions 1 to 23 in Bookilet A, shade the correct ovals on the
Optical Answer Sheet (OAS) provided using a 2B pencil.

* This booklet consists of 13 printed pages (including cover page).







Part 1

For each guesti.bn from 1 to 23, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the.correct oval {1, 2, 3 or 4) on the
Optical Answer Sheat, (46 Marks)

1. A snall hides itself in its shell when touched,

This shows that the snail Is a living thing because it can

(1) breathe (2) grow
(3} respond (4} reproduce

2. Which one of the following statements is true for all insects?

(1) They live on land.

(2) They have wings.

(3) They feed on other animals.

(4) They have the same number of legs.




3. Study the chart below.

fish, bird, mammal ‘

No

Which of the following are the missing questions A and B?

Question A : .- Question B
1) Does it have gifls? Doaes it have hair?
2) Does it have a tail? | Does it have wings?
(3) Does it have hair? Does it have a beak?
“4) Does it have fins? Does it have feathers?

4. Which one of the following living things can bear flowers?

(1) fem {2) banana plant




5. Ben compared two living things, P and Q.

6.

Difference: P does not make its own food but Q makes its own food.

Similarity: Both P and Q reproduce from spores.

What could P and Q be?

. P : Q

M fern mushroom
{2 flowering plant ._mushroom
(3) fern flowering plant
4) mushiroom fern

How is bacteria similar fo fungi?

"~ {1) Both are micro-organisms,

(2) Both reproduce.by spores.
{3) Both are able to make food.
"(4) Both need air, food and water,




7. Study the diagram bejow.

The above diagram shows the ' - system.
(1) skeletal (2) digestive
(3) muscular (4). respiratory

8, The picture below shows an organ system in the human body.

Which of the follqwing' stalements are frue of the organ system?-

A: The organ system is made up of different parts.
B : _ Without the organ system, oxygen cannot be absorbed into the'body..
C: The organ system removes carbon dioxide from the body.

()  AandBonly @ AandC only
(3) B and C only 4 A BandC



9. Study the description about an organ system in the human body as shown below,

&)

(0} » Produces digestive juices to break down
- food.into simpler substances.
. »  Works together with another organ
system A to push fopd downfiow. one
part to another.

9 e
Which of the following is organ system A?

(1}  skeletal system
{2) muscular sysiem
{3) respiratory system
(4 circulatory system

10.  Organ systems, P and Q are found in'the human body. One of the functions of
each organ system is described in the table below.

Organ system_ P " Organ System Q
» Workswithanother =~ |« Siores undigested food
body system jo enable uptil it is removed.
different paris of the
body to move,

_Ydentify organ system P and organ systemn Q.

Organ System P Organ System Q
(1) -_skeletal digestive
2 circylalory ~__ digestive
@ skeletal Giroulatory -
“) muscular " respiratory

‘



11.

12.

Which one of the following shows correctly how the food travels through a
hurnan digestive system in a healthy person?

(1)
(2)
(3
“)

anus - large intestine > small intestine -> stomach > guliet > mouth -
stomach - gullet > mouth > anus -> large intestine > small intestine
mouth > gullet > stomach -> large intestine > small intestine > anus
mouth > gullet > stomach > small intestine -> large Intestine - anus

The diagram below shows a human digestive system.

What would possibly happen when organ D is not functioning properly?

(1
(2)
3
“

More digestive juices are produced.

Watery faeces will be passed out from the body.

Food will be broken up into smaller pieces slowly.
Undigested food will be removed from the stomach directly.



13. A model of the human digestive system was built as shown below. Each part of
the model represents a part of the human digestive system.
Use the model below to. answer questions 13 and 14.

tubber stockings

hose

Which one of the following part of the modei correctly represents the part of the

human digestive system?
. -+ Part of the
Part of the Model Human Digestive System
{1) balioon _ stomach
2) funnel ; small intestine
{3} stocking guliet
)] toothpaste tube " mouth

14. If the rubber hose is the large mtestme, it cannot perform the funcfion of a
large intestine.

VWhich one of the following best explains why the rubber hose cannot perform
the function of a large intestine?

{1) The rubber hose cannot absorb water.

(2) The rubber hose cannot absorb digested food.

(3) The rubber hose cannot produce digestive juices.

(4) The rubber hose cannot cut the food into smaller pleces.

8




15. On a stormy day, a tree fell onto a house as shown below.

stem

N < roots

4% >

Which of the following best explains why the tree fell?
(1) The stem is not strong. :
2) The stem cannot support the tree.

(3) The roots are not able to absorb water.
(4) The soots are not able to hold it firnly to the ground.

" 18. Study the plant below.

feaf

flower

fruit

rools

Which part of the plant makes food?

(1) leaf (2) fruit
(3) flower (4) roots



17.  There are three similar adult plan’is, A, B and C. They are placed under the sun
and watered every day. One part of each plant is removed completely as shown

in the tabie below. '
Plant | Part of the Plant that is Removed Completely
A roots '
B ‘fmi-t.s
C - flowers

After one month, which of the foliowing plani{s) will not die?

(1) Aonly

(3 AandConly

(3 Bonly
(4) - Band C only

10




18. Study the table below.

X . Y
chopsticks wood
vase ceramic
knife metal

"\Which one of the following are suitable headings in place of X and Y?

X Y
(1) " Objects Materials
(2) Objects Uses
(3) Materials Properties
(4) Materials . Uses _

19.  The camping.tent shown below keeps out the rain and the sun. It.can be folded
easily when not in use.

Which of the following most correctly states the properties of part R?

Allows light to pass Waterproof Flexible
through
{1) Yes Yes Yes
(2) Yes . No No
(3) No Yes Yes
4 No No No

11




20. Which one of the following can be aftracted by a magnet?

(1) iron ball

(2) rubber bal
(3) plastic bajl

{4) wooden ball

21. Rajan was given a beaker containing small pieces of two materials, X and Z, mixed
together. C ' '

A 43T

The-properties of X and Z are given in the table below.

Can it be

Does it allow

_ Poes it floaton | Isit
attracted by a light to pass water? waterproof?
magnet? . through? '
X Mo " Yes ~ No_ Yes
Z Yes No No Yes

Which property sheuld Rajan use in order to separate the two materials in the

shortest time?

(1) 1 is waterproof or absorbent,

(2) Itis able to float or sink in water,
{3) It can or cannot be atlracted by a magnet,

{4) Italiows or does not allow light to pass through it.

12




22. The diagram below shows a flow chari.

Materials

No - :
? Non-magnetic Material

Yes

r Magnefic Material

Which one of following is the missing question in the box?

(1) Isitametal?

(2) Can itbe made into a magnet?.

(3) Canitbe repelled by & magnet?

(4) Does it have a north and south pole?

24, Jill stroked two similar iron rods, A and-B, with the same magnet aé shown bélow. . |

L _— L ]

Rod A Rod B

Both rods became magnets.
Rod A attracted fewer pins than rod B.

Which one of tiwe following shows the possible number of strokes used for rod A
and rod B respeclively? :

Rod A Rod B
M 30 ' 30
@2 1 .15 30
(3) 16 i5
(4) 30 15

End of Booklet A
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For questions 24 to 34, write your answers In the space provided.

PartIF

(34 Marks)

 24. Ron conducted an experiment from January to April. He set up two tanks, A
and B, with two different things. Both tanks were provided with air, water and
food. Every month, Ron counted the number of things in both fanks ana drew

the bars as shown below.

Tank A
A -
Number of
things )
January February March  April ﬁm,é.
- - Tapk B_
Number of
things
JaUaty February March April T"xm;
(a) Based onthe graph above, which tank possibly contained a living thing?
Write A or B in the btank. . i1
Tank
(b) Explain how you arrive at your answer in (a). (1]




25. A scientist discovered an animal Y in a jungle. He made an observation of
the animal as listed below.

I Feeds ifs young with milk

(a) Which group of animals does Y belong to? [11

(b) Wirite down another characteristic of animal Y which other groups of animals -
do not have. 1

The picture below shows another animal, Z, that the scientist saw in the forest.

eye

(I

Animal Z

{c) Which group of animals does Z belong to? Give your reasan. [2]




26. Study the ciassification table below.

Living things

|

animals A .
cat grass
elephant - papaya trée

{a) Write down suitable headings for A and B.

|

B | micro-organisms
mould yeast
mushroom bacteria

1]

() Classify fern’ using the classiication.table above. Write ‘Fern’ in the correct

box.

27. Mateh the correct human body system to jits function.

Fungction

Allows the exchange of | «

gases to take place. -

Carries food, water and
oxygen to various parts of
the body.

Supports the bodyand | »

gives it shape.

Helps different parts of |

the body to move.

)

121

Human Body System

circulatory system

T

respiratory system

musuular system

skeletal system




28. Susan classified the parts of the organ systems as shown below.

Organ Systems

|

L

Organ System A

T

muscles

(a) Provide a suitable heading for the following:

Organ System A;

Organ System B:

|

Organ System B

]

blood
heart

2]

() Inwhich ofgan system, A or B, should Susan place the "blood vesseis™?  [1]

Orgah System




28. The graph below shows the amount of digested foed in different parts, A, B,
CandD of a human digestive system. The parts are not in the correct order.

AmouAnt of digested focd
b

Parts of a human
digestive system

(8) Using the results, identify paris C and D of 2 human digestive system by

completing the table below.

Part A s the gulfet. Part B is the stomach. They have already been done for

[23- -

you. . :
Human ;?;fsgi: System Part
| gullet ' A
mouth
stomagch B
small intestine

(b) Which organ system will trénsport the digested food from the small intestine

to other parts of the body?

M




30. The diagram bejow shows some organs in the digestive sysiem. -

(a) Label the organs. [2]

{i

(i)

{iv)

a pair of scissors

(b) Wnich organ in the digestive system has the similar funcion as a pair of
sclssors? Give a reason fo your answer. 74 I




31, Study the flowchart beiow.

Plant Does it bear Does it have a
flowers? strong stem?
(a) State one characteristic of plant Q. 1}
{b) State one difference between plént P and plant Q. (1
(c) State one similarity between plant Q and plant R. [1]




wooden stick—

{a) Name parts P and Q shown in the plant above. [21
Part P:
Pat:

(b) How does the wooden stick help the olant? 33

(¢) Part R is the fruit’ of the plant. What is found insidé R that helps it to
reproduce?

11




33. Baoli had the following set-up for her experiment.

clamp to
hold st\ick

table top

tip of the stick

She measured N, the distance travelled by the tip of the stick when a weigjht is
hung on it. She repeated the experiment with stick Y which is made of a

different material.
{a) What propesty was Baoll testing? {1}
Baoli recorded her results as shown below.
Stick X Stick Y
N _
-| (Distance travelled by 5¢cm Ocm
the tip of the stick when :
a weight is hung on it)
The diagram below shows a pair of chopsticks and its use. -
chopsticks
food
{b) Which stiek, X or Y, is more suitable for making apair of chopsticks?
Explain your answer, (2]

10



34. Sammy made an electromagnet as shown below.

(@)

{b)

(©

}ﬂ rles
wire ?\
o~ ’ A

>

What could Sammy do 1o find out if the iron nail had become an
electromagnet?

jron nail

(1

State 2 changes that Sanmy couid do to Increase the sength of the
electromagnet. ‘

1)

2]

(i)

Sammy placed two magnets together as shown below.

magnet 1 magnet 2
A B

Fill in the blank below with the comect word.
Based on the above observation, Sammy inferred that A and B are

poles.

End of Paper
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Q24) (a) Tank B

(b) Tank B is most likely to have a living thing as the number of things
gets larger and larger as living things reproduce.

Q25) (a) Mammals

(b) Animal Y has hair

(c) 'Reptile. It is because reptiles have dry scales and animal Z also has

dry scales.
Q26) (a) A : plants B : fungi

|
A

grass
papaya free

fern

(b)

Pg1




Q27)

oxygen to various parts of

Aliows the exchange aof circulatory systern
gases fo take place. ><
—_— —
Ca rrios food, water and ’ resplratory system

_ R —
Function ] Human Body System

© thebody.

Supgpofts the body and
gives it shape.

muswular system

Helps different parts of | o
1he body to move.

skeletal system

Q28)

(a) Organ system A : muscular
Organ System B : circulatory
(b) Circulatory

Q29)

(a) Mouth : Part D
Small Intestine : Part C
(b) Circulatory system

Q30)

(a) (i) mouth (ii) gullet (iii) stomach (iv) large intestine

(b) The mouth. The pair of scissors cuts paper.into smaller strips just
like the teeth in the mouth that chews on food to turn it into smaller
pieces.

Q31)

(a) Plant Q bears flowers
(b) Plant Q bears flower but plant P does not bear flowers
(c) Plant Q and Plant R bear flowers.

Q32)

(a) Part P : leaf Part Q : stem

(b) The wooden stick helps the plant by supporting it.

(c) The seeds are found in part R , the seed can help the plant in
reproduction.

Q33)

(a) She was testing the flexibility of the material.
(b) Y because it is not flexible. While Y is still, X is not. Y did not bend
compared to X when a weight is added.

Q34)

(a) Put the iron nail near to some iron clips and observe whether it
attracts any iron clips.

(b) (i) He can coil the wire more times on the iron nai
(i) He can use more dry cell batteries

(c) unlike

Pg 2




